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関数 f(x) = sinx
1− cos2 x

の不定積分は，
∫

f(x) dx = 1
2
log え + C である．た

だし，C は積分定数とする．
(23 宮崎大 工 1(4))

【答】
え

1− cosx
1 + cosx

【解答】

f(x) = sinx
1− cos2 x

置換積分法を用いる．∫
f(x) dx =

∫
−(cosx)′

(1− cosx)(1 + cosx)
dx

=

∫
− 1

2

(
1

1− cosx
+ 1

1 + cosx

)
(cosx)′ dx

= − 1
2
(− log |1− cosx|+ log |1 + cosx|) + C (C は積分定数)

= − 1
2
log

|1 + cosx|
|1− cosx| + C

= 1
2
log 1− cosx

1 + cosx
+ C

1− cos2 x \= 0なので cosx \= ±1であり 1− cosx
1 + cosx

> 0であるから∫
f(x) dx = 1

2
log

1 − cosx
1 + cosx

+ C ……（答）

である．


